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"‘I.'j: - Match each point on the number line above to the corresponding number in the table
~ below.
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(Record all four digits of your answer in the numerical-response section on the answer sheet.)
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4 Use the following information to answer numerical-response question 6.

|

I Pat arranges three portraits from smallest to largest based on area. Portrait 2
{ is square, and its side length, measured in centimetres, is a whole number.
|

A —
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L The side length of portrait 2 is 39 cm.

(Record your answer in the numerical-response section on the answer sheet.)
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! The letters p and g in the expression y/ ! 3 g represent consecutive perfect square

i numbers.

3. Which of the following number lines best represents the value of ./ _P_;_*_‘l ?

A. <— G
Vryi Va yq

B. <— o——>
g \ry

@*ﬁ t : & —_
g s

D +—-+—¢ | -
g \ca

) . m th
[fj ub ——3 CDI”SQ (\_/i “)Q”Uwaﬁ éﬂ—d’\ o‘fhea'/

¢ '\Congec Jtive (7212{2(,1’ SquaRes " means
Any PeBfecT SgoRes et follo

‘ ber: Prrecr sgates
Rerens Fe 4,49 16,26,.36,49. . .

e J aﬂj K2 Consecechie FWW Squares

L> .l an o L qand q
o &’ 9# -~ Sy

e [ 5 /s
P %; %‘l: @: .5 E 2

440 b.&— 2-5

W Lach o‘f'{'\e('-'

l Ls to 9 —> 2-5
| 46 2.5 = |.5

e




/ Use the following informan'on to answer question 1.
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1. How many of the square roots shown above have a value that is between 7.8 and 8.87
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The square roots of two rational numbers are represented on the number line shown below.
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The number of perfect squares that are whole numbers between 2 and 20
18

(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer numerical-response question 10.

. ~. SquareS = _ _  __

1{lE] Which two squares shown above represent the best benchmarks for estimating the value
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(Record both digits of your answer in dny erder in the numerical-response section on the answer sheet.)
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